1)

1)

2)

2)

PAPER - (grdr — 1)
MATHEMATICS (s ifigbh)

TNTSE
MODEL QUESTIONS (or@ifl Caealisei)
Algebra
Let fix) = a;x®+a,x*+ asx+ a, be a cubic polynomial with onc digit

coefficients such that a,,ay,as,a, € W.IFf(10) = 5438,thena,, a, + ay,
a, + a,and 2a; + a; + a3, are in AP with common difference

A) 5
B) 4
c) -4
D) 3

fix) = a,x*+ax* + agx+ a4 ., (Qspsser 2,85, 83,8, PIVEE (LU
sraaen) erainp LagynLyEGsrenandsy f(10) = 5438Cwayd a; + az, a, +
a; wppid 2a; + a; + az, si@usr U @E0EM g afiensuiled syenowylh
srssflsld yeummisst Qumg afi B wrsih --—

A) 5
B) 4
C) -4
D) 3

If x +y+z=35 and xy + yz + zx = 3, then the greatest value of 3x is,
A) 17

B) 22
C) 13
D) 16
X+y+z=5 wopbh Xy +yz+2zx=3 erafied 3x e et Quiin wHiy
A) 17
B) 22
C) 13

D) 16



3)

3)

4)

3)

The number of real roots of x|x|+5[x| + 6 =01s:

A) 1

By 2

c)y 3

D)y 4

x| x|+5|x| + 6 =0 eravp swwsdLm 1y & ol apemFEaler sTemenSans
A) 1

B) 2

C) 3

D) 4

The number of real roots of x|x| - 5|x+2| + 6 = 0 is:
A) 1

B) 2

C) 3

D) 4

of x|x| - 5|x+2| + 6 = 0 sraip sweduim g < Gl ppevsiseian savadsms
A) 1

B) 2
C 3
D) 4

Given the polynomial x* — Bx® + mx® + nx + 16 is a perfect square,
consider the statements

A) m=8n=32 Bl m=24n=-32
C) m=24n=28 D) m=-8n=32
Then which of the following is true 7

A) A only true

B) B only true

C) A and B are true

D) Conly true.



6)

7)

2% —8x® + mx® + nx + 16 sreip uSgupiECaraa 9 wpp ViSaLh
arafley Qar@asuul Gsiar wHiysealiisd s1g GlummAs o meTs

Al m=8n=32 B) m=24n=-32
C) m=24n=28 D) m=-Bn=32
A) A wL (Hhb

B) B ulgué

C) AwnpuwB
D) Cur @b
The axis of the quadratic graph (parabola) y = (x — 1)(x + 3) is

A) x=1
B) x=-3
C) x=-1
D)y 2=3.

y = (x — 1)(x + 3) araiip @By cwmmn_g8el (Loausnarund) Hes

A) x=1
B) x=-3
) x=-1
D} x=3.

The point of intersection of the line y = 3x + Z and the axes of the graph
(parabola) y = x* + 4x + 3 is

A) (=30
B) (-2,—4)
. &-D

D) (-3,-1)



y=3x+2 aap CpiGsn® wpmns y =x>+4x+3 e usauenenwis
@aul @ieh tyarerh

-
B) (-2,—4)
v 2
CJ (ZJ == E)
D) (-3.-1)

The relationship between the diameter and its circumference of 5 circles are
shown in the table.

Diameter (cm) (x) 1 2 3 4 5
Circumference 3.1 6.2 93 124 15.5
(em) (y)

The slope of the graph of direct variation (straight line) and the circumference
of the circle with diameter 7 cm are, respectively,

A) 3land7
B) 3.1and21.7
C) 7and3.1
D) 7and3.l

8) Bysvamih L uemenmullsd sul L gBsr il L 80 @L Hsar spperalp gL
@en_Guiwines Glgm_gi) Clsr@asiL” Hererg

A5 (@7.iB) (%) 1 2 3 4 5
spwerey (65.2) (y) 31 | 62 | 93 | 124 | 155

i arenemnfe Qmpm Grd wigum e (BpdGam e stdeyd wppno
afli e 1h 7 G5 il g @B mdoLd Cung s sppemad

A) 3land7
B) 3.1and21.7
C) 7and3.1
D) 7and3.1



9)

8)

10.

10.

11.

IfA = (32 f4) and A2 4+ A = 0, then the value of @ is
A) 0

B) -1

C) O

d) -6

sjenfl A = (_32 34) wpgh A% + A = 0 gQenafied a uisr By

A) 0
B) -l
) 6
D) -6

f(x+y)=x+¥)?*+9(x+)y)+20 and x+y =5, xy = 4 then the
possible values of f{x-y) are:

A) + 3
B) +2
O) 56,2
D) 9,20

Fx+y)=(@x+y)2+9x+y)+20 Guoanus x+y=>5 wppis xy =4
sreficd f(x-y) e oGy

A) =3

B) +2

C) 56,2

D) 9,20

For what valugs of a € z, the factors of a* — 16 form an A.P.
A) 1,and -1

B) 2and-2

C) 1and-2

D) 2and-1



11. ae€z @woni wEhips a*—16 G argenfllaar sl HS6s1L_7 auflewauis
HNemougd erefiev g = — — —

A) 1,and -1
B) 2and-2
C) 1 and -2
D) 2and-l

xebx+1 .
x2-2x41

12) Ifx -+ 1/x = 4, then the value of

A) &
B) 3
C) 10
D) 3

L xtHEaEl -
12) x4+ 1/x = 4 sraflad T o w8y

A) 6
B) 3
C) 10

D) 5



1,

COORDINATE GEOMETRY - .pyugGzree aigaiwe

Which one of the following is NOT TRUE for the line joining the points (2, b) end (&, ©)
1) Equation of the lincisx =a

b) Equation of the line Cannot be written in the form of Y=mx+c.

¢) slope of the line 15 undefined

d) Equation of the line lsv=a

(a,b) wpmis (3,c) sraip Leredaafielr anfiGw, e CpiGaT® armpuiiu@
srantiey (Newaummerawappled a1l GlumEmEsSiopna)

a) CpiaGari e sioaun® X =2

b) Gpilar yarsuaiurnienr y=mx+C aap agaile aups Quang
c) CpiGeriyer smis aeTug/ésLiuL 155l

d) CuiCar e swoSiunBy=2a

A quadrilateral with Vertices (2,0), (-2,4), (4,7) and (5,4} intersects the X-axis at one point and
y-ixis at two points, The ordinste of the centroid of "
the tniangle formied by these three points of

intersection s

a)6/3 sy~

b)-172 B D
¢) 713

d)y1 ¥

ﬂ.

0.2

(0.9 A2 "

v
o #Raar (2,0), (-2,4), (4,7) wognd (5,4) srarususieny (Lpeneasarrs
Ganem sroagh X - HeFmen g Lsiaiullgyld Y -yFRmer @)
Lyeiramiaeiisuth Glau @d serssfisd, @rbmpsirn) yyerafissmmsd o mammEd
apdSanewa Bl FHECsTC (G mwgSar Clenl@as Hds sy
a)6/3

by =172

¢} 73

d) !

The Medians of the irinngle meets al (4, B/3) and the two vertices of the triangle are (2,1) and
(8,1) then third vertex is

a) (1, 6)
b) (2.6}
) (2,10)
d) (11, 10)



om WEGarewiBar aparpy pRECan@aet ( 4, 8/3) ewip yerafiufed
spRaR@pe (WiGaneugPer Qoev@ gpemerssr (2,1) wppnd (8,1)
sresfien, (LECarewiDe ppSypmTaug (Lpanen

a) (1, 6)
b) (2,6)
¢) (2,10}
d) (11, 1)

Ina & ABC, D and E arc the points on the sides AB and AC respectively, DE||BC. The
vertices of the tmangle are (3, 2), (-3,8) and the length of BC is twice the length of DE. Then
the area of the quadnlateral formed by BDEC
a) 30 b) 15 ci24 dii2

wpsBansmeh ABC «flsd D woipns E eranp yearafsar wpenpGu AB wigih
AC eir 15z yenwpgrereng) Gwgyh DE [/ BC. waGsmem ABC diar
wpemeniivyerefzer A(3, -2) , B(3, -8) wpguid BC gamonsng DE Wiar fong® o
B @ we_miE erafied grpamd BDEC uilar Ligiivenay
2)30 b)15 )24 dyi2

Two straight lines of ayx + by + ¢; = 0 and ayx + byy + £; = 0 where the co-efficient
are non zero then a, b, — a,b, = 0 if and only if the lines arc
8) Perpendiculas
b) Parallel
) Intersecting
D) Non-parallel

ayx+ by +cy =0 DHOID ax + bay +¢; =0 6D YRGWIODHD
Qaésemem Qansn. @ren@ CoiCanPsErds® ab, —azb =0
sTeniled BSCHTH@BEN gRsiTISESTs D)

a) QERGHH

b) Eenes

o Qe (G Can@ssT

d)  Senssmr @isson Cam(paEsn



)

1)

2)

2)

MEASUREMENTS - gjemeflwiev

A Cylindrical drum is 42cm height and has 21em radins, then which of the following

statement is true.

A)  The surface arca of a sphere with radius 42¢m is equal to the C.8.A of the cylinder.
B) The surface area of a sphere with radius 42c¢m 1s equal to the TSA of the eylinder,

C)  The surface area of a sphere with diameter 42cm is equal to the T.S.A. of the cylinder.
D)  The surface area. of a sphere with dinmeter 42cm is equal to C.8.A the cyvlinder

ogpener sugeileumenr Wl 42 Q.8 e wrh wh b 21 Q& s7h Q&L gl
srenflsl BipssarL sahosafld sg &01?

Al

B)

Q)

B

42 Qe =yrb Qe CsnagBlear auemaTurUy e mensamwilar suemeTL
uguime &b

42 Qe b Qararl CErasSHea auensmuuTUy e manatullsy QLoNSE
urdpe s

42 Qe il QETaTL SaMTaGHis aaurlu manetdler Gunés
wrinfipe swo1b

42 el dilub QEmeoL CearasBidr wmaurluy egmenaruller
cuemenuyUSIhes Fibib

A cylinder having its height equal to its base diameter is filled with water, then, same
volume of the water displaced when a sphere of same diameter as that of the cylinder
is placed inside it is,

A)
B)
C)
D)

One third of the volume of the cylinder
Half of the volume of the cylinder
Valume of a cone with same base area and height of the cylinder

Twice the volume of & cone with same base areu and height of the eylinder

wwsgith samefgme glpdudul. o ooaullst ewrd ST
slglugs HALLESHDE Fob aflld smeanaruilar AL HEe swwumer
sliLLh Qeraiv,. CanardBlenar e panemuiiahr drtar evausslUGWLEUME
QeusflGwimiih & wureoel e Siamey

Al
B)
C)

9]

o maneTulledr e sianell ) aparild 8 RS
o meneniler s siamailey LmEl

o mananuller SRULES UTUL WHDL WSS FUOLMTS QST
En b6l &6 iaTey

e manarlfler sjgluss uTUy LHIL LTSS FOLTSS QBTaDTL
Sa 1 Geir ser syenefldr @ Us LG



3)

3)

4)

A is the shape formed by rotating a right angled triangle along ifs base. B is the shape
formed by rotating the same right angle triangle along its height. The ratio between
the volumesof Aand B is

A)  The ratio between the hypotenuse and the base of the triangle

B)  The ratio between the Hypotenuse and the height of the triangle

Ci The ratio between the height and base of the triangle

D)  The ratio between the sum of the height and base to the hypotenuse of the tnangle

e GFltarar WaCETaNEFd JQLUUESEBanar QUTEESSID, e TS
QuripSsih sPhHpluit CUTS & (HaUMBLD sk (LapeW A Hpibh B
ereuflsh Uiy eulissT A wH QD B &6 @eLGWWTer sy eraysafldr sfi@Hwn

A) Senorid pouh s LEsEEDHE @enL Cwiwrrear eflfEiEibh
B) &ifeomlh whobh ewrdEhe el wwrear allE s
C) 2.wgh DHDD SWLLEESE DHE @l Guwrear siiEgh

D) zwph whob MYLUSESEEE sahiEgsEh, sjarsBheD Genl Guumer
@ s

The volume of a right circular cylinder with height ?‘ﬁ (x,y > 0) and radius is
the distance between the pt. (x,¥) and the origin is,
V¥ Vi : .
A) H[ﬁ + m] cubic units
x ¥ . X
B) “i_ﬁ"' T | cubic units

¢y wf= + 2] cubic units
S NvE

D) w2Es %Icuhicunits

x



4)

5)

5)

S® SpraILL eeaaTuliler e wyih ﬁ%ﬁ (x,y>0) wHgib SyToTarg (xy) SenD

Udrefl&sib &8 yaafllEsh Garluls Osmansuey aefllsh o mpenarullenr sem
S ETay

A) ::[w_—f*—ﬁ] SE0T SEEY

B nigyt gl ee s

.‘"
C) n1” “Tlmmmm

D) =x ["'rim""“'12 & @I HE0 B|FTEY

In & brick company mud is kept in a hemispherical vessel of radius 7m and water is kept
in a cylindrical vessel of base area 154cm ? and height 5 m. The number of bricks that can
be made of size 25cm length 250m breadth and 24cm height using 3 vessels of mud and
¥sof the aveilable water.

A) 231000
B) 154000
C) 150000
D) 105400

esmssd swrifléEed osmbpesrensuulss, wawmanars 7 1 STh QST
SmTEEETa e Qanasaaiic Crulis amagsaernisadan Guad ks
Ll 154 &5 tmguih 5 U8 e Wimb QsreirL. 2 @menar aula QEnarssueflch Heoranf [
crdd s enaiSgdarnise. 3 QanaTEsaT 2emay ek W Hoth -;-G‘Imrrmmmsér S{6TRy
gamentany CxidSm 25 Gl denb, 25 QF8 sl wHDE 24 GFd 2 wd
@emar. Gemshed swurfigsme swurflésuull. Qunss GFmsheaflar

T G G |85 600 86
A) 231000
H) 154000
C)y 150000

D) 105400



6)

A solid cylinder of radius 20m is carved inside and made into a hollow cylinder with inner
radius 10m, The height of the cylinder is 7m. The carved portiom is melted and made into
solid cuboids of dimensions (5x 4 x 10) m. Then the required vohmme of paint to paint the
cuboids at 0.2 Vm® is.

A) 2420 litre
B) 1452 litre
C) 968 litre
D) 484 litre

2015 syoolh 78 eawimih & 6ar e BiL e menanuiiensr el ubs0Ns S HoGH\EE
&7 2500 10 8 Qsman L esrel_hp o menar 2 parssauu@Bins s 05056
Ul emsslul® S8 x 4f = 08 semey GEMETL  SaTGiFcisuSiD
pEareEsluGRDs aalld), s EaRresUuUllL ST OF e SMiiEaNsT & D
BUL 02608 aswm sieTallil Caameauliu@ILh suekre ety sismey (B L)

A) 242060
B) 145260
C) 9886l

D) 48460



1)

1)

2)

2)

NUMBERS AND SEQUENCE AND SERIES
TS EBL QASTLT aufleanssEsn

If 5% = x (mod19), then the value of x is

(A} 5
(B) &
(C) 11
(D) 17

5% = x (0L (5119) sraTmsuToN S{enoLid x 67 Wil

{a) 5
(8] 6
€ 11
(o} 17

If @y, @z, Ay ... @y are in AP, @; > 0, for all values i e N, then
] 1

1 §
7 A N N A e il

iI=-n

Jan*VE

Al

L+n

8) VeVl

fn+1]
9 =

D) _

@y, g, Gy .Gy B SalBs OpTLT auflasruléd siewbasa o puuser aeafld

(g, >0, IeN)

1 1 1 . .
— o ot o ——— -7 WEl
JaTtyag | yaitJas | (et JOn-14y 00 By

1=n

Al

y
1+n
B =
cl — tﬂ""‘[j
Jon—/a;
-1
D) =

\F“_ﬂ_‘-‘--u_'l.



3)

3)

4)

An entrance of the gate is made in the shape of an isosceles right triangle having longest

side as the base. If the perimeter of the gate is ;(1 ++Z)m, then the length of its longest
sidein‘m'is

A) ‘E

16
B8) —
15
Q) =
50
D) =

e Lwilsnslldr manpea aimuiidy @@ Fuuss (WWECET aigaild) o mnkaereTg.
wEdaranaSdr WUs sifle faorar LESD SQUUSSIONE SEN0W, HNHET
s hmena) }{1 + V) 8L eraflel, mampay eunufsfier ougOiuds Berh (S0 L fleb).

-]

B) =
c) 5‘5
D) =

The value of 0.2783 isequal to

689
A] 24.75

6,59
B} 1475

68-9
c] 475

689
D]

689
A o
689
8 =
68:9
O
D ==

2475



(5]

3]

6)

6]

First three consecutive multiples of 5 (positive) is subtracted respectively to three interior
angles of a triangle (increasing), these angles form an A.P. If the least angle of these angles
is two third of the largest angle, then the angles are in the ratio

A 2:3:4
8) 3:4:5
€) 4:5:6
D) 5:6:7

(DB aperm 5 -6 LLASSE e WECaTonsEr o G516 s EhL &
wpaontw s@ssuulumuldsrn, (gosuflens) @uepdim GCETMITESE S0
sl @s0srLi auflosamu Jyewssn aafld, seuphmesr emobs ol
CarewiBdr smanars Wasl aufiu CanamgBa wardld @ WLLmISTS
@@Lt sibapam Gamaw misaflar aflE S

A) 2:3:4
B) 3:4:5
o 4:5:6
D) 5:6:7

A surveyor makes three measuring sticks of different measures whose lengths are in A.P (in
increasing order). If one unit is increased to the first stick, measures of these sticks form an
G.P or if two units are increased to the 3" stick, measures of the sticks form the G.P. (again),
then the length of the 2™ stick is

A) 4
B) 6
C) 10
D) 12

am Blo sl Flwdans s@miushEe aam GsusiGamsr Siaaiss
Qanrer, GEFsama sLTT QxLBonT. e samasa (BLLTW) @@ sl
asrLt arflmeuld o aflamsuli) smowb Uy gund QFLBRTT. W&
&R ldr faEHd e UL siBsflSE06 SUDApaT D SETaSHEHD 05 GLUHSE
QaTLfld sieuh siEas e GFERUD simais 2 WL LT B sflEsmd
Siena apsmib wpuguh QUESEESS s eouin e, G e Tas
HEFWlar Hamb

A) 4
B) 6
C) 10

D) 12



PLANE GEOMETRY QUESTIONS - su19.68lwisL efileor mas & 6i

In the figure AC =v50, AB = 7, m£CAB = 135°. E and F are the midpoints of the
side AC and AB respectively. The length of EF is

Op-= == —=an

A) 4.5 units B) 5.5 units C)6S5units D) 7.5 units

ul 2@, AC = V50 wyegaer, AB =7 sysvgsst wppud mLCAB = 135%. E wgpb F
B wenau woenpBGw AC wpgnd AB usamissiiar 5@ Ciywrsiser erefiso EF [g)wr fann

C
a) 45 maygmar i
b) 5.5 syevgmasi ;
¢} 6.5 gyevgaar

d) 7.5 ywgaar

ABCD is a rectangle with sides 16 and 12. Points E and F are chosen so that AFCE
forms a rhombus. Then the srea of A EFC,

A) 65 sq.u B) 70sq.u Moo

C)75squ  D).80sq.u Sra;

16 sl fenppid 12 Q. if yyasppdh aeren Qealauasi®a DC wpps AB oileir iig
wpenpenus E wopgued F erdinp yeraflsar speowgaisrong. Frogys AFCE smuiegio
srediel (s Ganened EFC -ar L ivsenmay

a) 65+ ey
bl 70 & = o

c) 75# 5 .

d) 80+ .y s




On the figure, AG = 4,GE = 6,28 = 45 CE 1 AB. Then the GF | BC,
ED || BC and GD || EC The area of A BCE is

A) 100.6 sg.u.
B)110.8sq - u
(C) 112.58q - u
D) 115.5sq.u

U g@awAG = 4,GE = 6,48 =45 CE L AB wims GF | BC, ED | BC
wigd GO | EC erafed A BCE @eir ciptiversy

3] 100.6 # .y
b) 1108 &
g) 11255 .5
d) 1155 s

ABCD is a quadrilateral with AB=3, BC=4, CD=5, DA =6 and diagonal AC =5.
BP L AC,DQ L AC, the value of PQ is

A) 1.5 B) L6
C) L8 D)2.5

piped ABCD @e AB=3, BC=4, CD=5, DA =6 wiigi gpemaail’s 1h AC=3.
GugE BP L AC, D0 L AC, srafies PQ eir flanté

a) 1.5
b) L&
) L8
d)y 2.5




5  On the figure, the area of the shaded region and the length of EF is
A

/r%

B D c
5 uL e gpellc i’ ug i upciueray wpgd EF &)« fend

A
3) Vsl V7 Qe

b) 20 29518, V7 Qb F

¢) 12 5Ge i, 4V7 G ok

d) 102958 V7 Qo it 5 Dk c

6  Inthe figure a* — ¢% is equal to

a) 22sqem, 2v7 em
b) 20 sqcm, 37 cm
¢) 12sqcm, 47 cm
d) 10sqem, V7 cm

a) b2+t
by b* —d?
) g*+f*
d) g*—h*

6 UL gPaa® —¢? dg sunreny

a) b%+c2 / b
¥
2_ 2
b) b d . i
h

c) g2+ f*
d:l E.I_h:t \/




7 In the figure AB = 31 em, CD = 6 cm, BC = 36 cm where A is the centre of the
bigger circle and £ is the centre of the smaller circle. Then the value of x is

(A)12 cm
B) 16 cm
c) 18 cm
D)21 cm

7 AR Qufe wppid BAw seep anlr siseflealr snwwmiser qpenn Buw A i
D. Gugud AB = i1 Q=ufl, CD= 6 Glaf. BC = 36 Gla.uf sraaflad X- air tnf@iiny

a) 12 cm
h) 16cm
¢) 1Bcm
d) 21cm

B Inthe figure AB = 12, BC = 18, AC = 25 AB and BC are tangents of the
semicircle centred at 0 . Then the measure of AD is

a) 14
b 12
) 10
d) 8

8 ur g@et AB, BC srap Canpaer O eaipp yataii@w awwiwnnss Sarain
senpai e £8 Qanplarfast Cwogys AB =12 5. £BC =18 G« FAC=25 Qaf
sraafed AQ sreiiiigy

a) 14
b) 12
cl 10
d) 8




9  The chords LM and D) intersect at k as LK = KM. A semicircle is drawn with
diameter DJ. K§ + D] meets this semicircle at 8. Then SK is equal to

(AVKL B)K]  C)KMD D) KD

9 S L £8e@ LM wggid D) sreéy poavssr gang Deraw@ k asp yaredoia k=
km srsirgyeoogy Gl ya@ararmng D) -mw ofL L wrsd Qurae( ausnpuiion e
semp oL g®e KS L DI sraip Gam Ripau® S aam yareffula Glaw B erafled
SK wredisgy

n) KL

b) K/

c) KMD

d) KD

10 Inthe figure, AB L BC,DC L BC and QP is the perpendicular bisector of AD. If
AB = 9,CD = 7,BC = B then the area of the quadrilateral APQE =

(A) 22 sq.u
B) 24s5q.u
(C) 26 sq.u
D)28sq.u .




10

L E@eDAB L BC, DC L BC wopgyub QP ggersy AD ufisir sniowssiesgas G
Gogs AB=9,CD=7,BC=8 eafla grosgt APQB ~ar Lipiosmray

a) 21 sqo sEaer
b) 24 smin e m=ar
¢) 26 sz sywmer
d) 28 wgip sw@sar

' @' is the center of the circle. AB is the diameter of the circle. Two circle F and F
are drawn with DA, OF as diameters. A circle D is inscribed touching the outer
circle and the two inner circles. If the radius of the smaller circle of centre D 15 8
then the diameter of the outer circle is

Ay 16 P
B) 32
(C) 48
D) 60

7 wiliighar emonid O wipid sper ofcw AB, Cugyd OA whgns OB
al L wasd Glarew® Goaw® el mlsst weguou@Ros. E woipe F g
muwuinrsd Qanew® wepGu DA wipd 0B afiisisenar seiw &
an’s et aepuiuE8pg D eow ewvwwrsand Quin @il gees
Claribingud whp Grew® sl mssayd  G@nGong  susnrwloPw
e gBelr sumb B Baoff sredlal Darafan’y g@arall 'y 16

a) 16 yyegaar 8
b} 32 yw@wear /
¢} 48 myawwer ._
d) 60 we@mar A 0

s i



12 'O isthe centre of the circle. Chordy AF and €D intersect perpendicularly wt £ as AE = 2, E8 =
12, LE = 4 Find the dismeier of the circle.

c/f ™

il (]
B\
58

1y

n*. -Eﬁ

/ T
N

Bw

A)BVE
(B) 10+/2
¢) 1242
1) 13v2

12 O-genuwuncrss Qara an’e S8 AB wegpid CD astrgb srawser E avinp Lpenadiia)
gerenp Qwrsiigy Gediggsrs Qe iy dSurermpg Fwguh AE =2, EF = 12. CE=
4 erefiel e SRl L 4P

n) BYVZ
by 10WZ
e) 12vZ
d) 1342




1)

1

2)

2)

PROBABILITY AND STATISTICS (flsipssey wgipy ysrafiue)

Dut of 30 numbers, if the mean of the first 10 numbers is 12 and the mean of the remaining 20
numbers is 9 then the mean of all the numbers Is

Al 10
B) 12
€ 15
D) 20

30 esmaafle) W 10 aemsatistr #rmed] 12 Wsundrer 20 aemselsor #omed] 9 sraflsd
simang s eesaflenr sgnei

A} 10
B) 12
Q 15
D) 20

Among the numbers betwsen 50 and 70, adding 1 to the first elemant and 2 to the second element
and 50 on , the average of the new number Is

A} 79.57
B) 9757
0 5797
D) 7597

50 0B 70 LG 2 6TET STETSE 60 QNS0 B UL 1 Ruth @reRrLmb o oL &
BrsranLwd saly BHCUTL QBTLIGSTO sy Bl G@Eh Y eresores] e
s sonedl

A)  79.57
B) 97.57
€} 5797

D) 7597



3)

3

4)

4)

If the average of the first five two-digit prime numbers is 16,6, then Average and Standard Deviation of
the new numbers obtained by dividing each number by 5.

A}  Mean 3.32 Standard deviation 1,162
B)  Mean 3.32 Standard deviation 1.854
Q) Mean 3.32 Standard deviation 0.162
D) Mean 3,32 Standard deviation 0.854

wasn mbs Fflvds ust aawseailar Fyned] 166 safle, @IGQITID o eI s
BEang eSS TL Bas6h uBw sansafllsr srmed] whob B L dlassb

Al sgnedl 332 Bl Lalleésid 1.162
8) spnedl 332 B Lsfovéasib 1.854
0 egmefl 332 Bl dlwssb 0162
D) eFonedl 332 B lLdiuasd 0.854

luly 2023 Chennal average temperature for first 4 days Is 42°C, The average temperature for the days
from July 2 to July 5 is 45°C, And if the ratio of temperature between July 1 and July 5 I 6:8 What is the
temperature in Chennal on 5th of July?

Al 36°C
B) 42'C
c) 48'C
D) s4°C,

ZOaney 2023 Qearmaruile s 4 prisaila symefl Qeauliupiane 42°C mOame 2
WHe Oanea 5 suenpuiigierer pBrlsafles sonsfl Galuplene 45 * C Cuaibh F@ama
16Gh WOme 5 sergith oaver Qaliu Flove ad®Eh 68 aafld QFaranaTuie
ey Sauh [Freflar QaiLuBlane seualetey?

Al 36°C
B) 42°C
€ 48'C

D) 54"C,



5)

3)

A bag contains 20 marbles in green, yellow and red colours. The prabability of picking yellow marbles
52, and If the probability of being green or yellow Is =, What is the number of red coloured marbles?

A 3
B) 4
€ s
D) 6

S0 Ul LuFans, lnEsda, Fauly flomsafle 20 uellfi@sheadr o deran. hehaar
pip uvallf@snsmer a@UUSDETET Disbhasa Em[i;mu': UEFensFWNSEaUT 260608
wehFaatan Quuushanar flab ssea & aafld Raly v velifigabaeiar
greum aoofl| & emas eratrenr?

A) 3
B) 4
c s

D) &



1)

1

2)

2)

3)

ets and Functions M6 & 6T LD &
If A, B, C be any three sets then the sét (A — B) U (B — €) U (€ — A) represenis.
A)  AUBUC
B) AnBnC
C) (AUBUC)—(ANBNC)
D) (AUB)—-(ANC)

ABC adTueN TEHENILD AP HEMHREET e (A—BuB-CjulC-4) 86
GliLg

A)  AUBUC

B) AnBnC

C) (AUVBUC)=(ANBNCL)
D)y (AuB)—-(4AncC)

If A and B are two sets so that (A —8) =2n(AnB)=4n(B —A) and if n(AUB) =
28. Then the value of n[P(B]] is

a) 512

b) 1024
c) 2048
d) 4096

A, B sTeTD B0 SO BIEET nid — 8) = 2n(A n B) = 4n(8 — A) e@inmm 2 seng. Guogylh
niA uB) = 28 werfleh n[P(H)] - et @B,

a) 512

b) 1024
c) 2048
d) 096

Let A and B be two nonemply subsets of a set X such that A is not a subset of B then
A) A is a subset of complement of B

B) B is a subset of A

C)  Aand B are disjoint

4] A and the complement of B are non-disjoint.



3]

4)

4)

3)

5)

A OMDILD 8 66N ST MGET X aaTn SamsEsr Qasmofldien o seaormi&er. Gogih
A eTeTLIE B -68T £ Usanrih Syshey srenfley,

A Asteimugl B -ar i scrgEier o saib

B) Basrug A-67 e _seniib

€  AWDmib B esTLIeN GleuLL LT &6 RIGET

D) Awdhond 8 -sr flrlyserd s 8lwena Gl LTS SapriissT Sy,

If the difference between the number of subsets of A and B is 120 then Choose the incorrect option
A)  Maximum valueof n(ANn8) =3

B) Maximum value of n(A U B) =21

C)  Minimum Value ofn(An B)y =0

D)  Minimum valuc ofn(AUB) =7

Awhoib B W s sssrmussflar 2 | sauriusaller aaranl&anséE Bl G
2 dran CaumiLin( 120 staflé Uaragaarapae sapnaeams Csia Oslis

A n(AnB) e WasuQuflu Sy =3
B) wnAuE dr dslu@uiiuoBuy =21
0 w(An8) sr fssE AP nBliy =0
D) niAu B e dss Bpflw ity =7

Let A and B be two sets, The set A has 2016 more subsets than 8. If (A N B) has 3
elements then the number of elements in A U B is

Ay 13
B) 12
c) 1
D) 10

A pmih B earuer gEsmib S saurmimd s A o ol saniiseafier
aamel|Sens Bar o samusaflar darenllsamaanid afle 2016 SIE&HL. (AnB)
SaTE 3 e plusae Qsmanpads aeld (Aul) eeawr 2 olusefldar
ST E00f 1 &6 &5

A) 13
By 12
Cy 1l

Dy 10



6)

7

7

In a survey of 100 farmers the ratio of the farmers who grew paddy and wheat is 2:3. If 10
farmers grew both and 20 grew none of them, then the number of farmers who grew paddy
only is

[A) 26
(B) 36
(C) 44
(D) 54

pm dlasnliselleb Brgsion L auelld Qme whgih Esrgiemn uuwliflie
dlasmisalar d&sh 23 46 edaamg 10 dasnuisds @ramai b uuflCE,
20 Cuif germuih Luiiflu duL sflemey erafley Qmes Wl Gn LWflL sflaienulisaflar
ETexRreunl | 6 &.

(A) 26
(B) 36
(C) 44
(D) 54

In an election there were 400 voles, A and B were two candidates. The ratio of valid votes
for A and B i1s 4: 3. If 40 voters cast votes for both and 10 voters didn't cast vote, then the
total number of valid votes are.

(A) 270
(B) 300
(C) 350
(D) 380

20 Caiselia) 400 aunsEaa GBS A WhHoid B ererUsifas s Geul LIrariset
A LDHDiD B S&TAEr GFEMgILIGWNIEL arsgaafldar siiEsh 43 40 unsanarias
@ren® CupssL arssefléBorisdr whob 10 Suf  wWrBHGSWL
aunssaflssaflcasy ssofle) QFuaiLRUTEGD aunsEsaseildr aarant Sans

(A) 270
(B) 300
(C) 350

(D) 380



8)

8)

9)

9

In & group of poupie 20 like milk, 30 like tes, 22 like coffee, 12 like coffee only, 6 like milk
and coffee only, 2 like tea and coffee only and 8 like milk and tea only and il

A : people like exactly one drink,

B : People like at least one drink then the value of A — B is
(A) I8

B) 86

(C) -18

(D) -86

SO BWaild 20 pUISErEE LMD, 30 BLiSEE&E CaBmb, 22 BUTEEES
Gearbdwh dlpibuwnneg. 12 pufsd @arllenw widih efimbued. 6 BufessT
umeh iomhopih GetibLlisw wLeb dl@mbust 2 Bursd st whonb @ambieu
Wi Gub eflgsibyaid. B BUTSEr Lrs whob GsienT WG il surFassr

Cloguh A sflwuns 8Cr s@ Unandens LG al(pLUD FUTSET

A)
B)
€)

D)

8: GoDhHa fE unargans flmouh puissT aafle,
A-B er By

18

86

=18

-86

If n(A) = p,n(B) = g and total mumber of functions from A to B is 1331 thenp — q is.

A)
B)
C)

)}

,
=7
8

-8

n{A)y=pn, n(f)=aq WwHobA W GEba 8 &6 @en G wner Guangs siyuseflen
srevuressildena 1331 araofley, P -q erelriig

A)
B)
C)
o

;
-7
8



x* + x, if x is a prime
2x + 5, if x is non-prime then the value of f{f{1)) is

10) tiivmf(x):[
(A) 56
(B) 54
(C) 46
(D) 45
43 x @UH USIT sTestr

10) f@x)= {2r+ 5 00 UST i dard AsTHssLUC TS

stenfley f(fi1)) &or Bl
A) 56
B) 54
O
D) 45
11) The domain of the function g(x) = W+ﬁ contains
(A) x<1
B) -3cx<i
(C) 1<x<3
D) -3<x< 3.
1) g(x) =VI—x7 + = e enfdler nHLUSD sExouh Gen Qaed
(A) x<1
(B —3gx<1
€) 1<x<3

D) -3<x<3.



12) I f(x)= 1% hen the value of f+£(3)is

3

:
(A) [1':]

(2-1)°
@y =

(1+x%)"
© ==L

r1_ Fd
o =l

ol
12) f() =2 awied £+ (1) ar iy
w =t

(#2-1)"

B =

(14x%)°
€ ===

(D) M

P

13) IfA= {x:xaﬁlnx-&Z-}:ﬂ],B ={x:x*—9x+20=0)
C={x:x? +x—=30=0}thenA x (BnC)is

(A  [(-64),(54)]
B)  {(4.-6).(45))
(©  ((4,5),(6,5)]
M {(4.—6).(5-6)]

13) A={e:x*—10x+24=0),F = [x:2® —9x + 20 =0}
C=f{x:x*+x—30 =0} araflév A x(80C)aeTus

(A {(-64),(54)
B)  {(4-6),(45)]
(€)  {(4,5).(6,5))
D {(4-6)(5-6)}



14) Find the domuin and range of the real function f(x) =

1
1+3sin :rm

@  R-[-1/3)~w < flx) < Tand < f(x) <o

B  R={1/8)~e < f(x) < T and; < f(x) <

(©) R={-1/3}><f@®)<1/4

(d) R—=(1/3),—w < f(x) < —1/2and 1/4 < f(x) < =,

14) (x)=

:+m ~ @I Gl Frilier wHlusd whmb efFssb wenmEw

(A)  R—[=1/3)—> < f(x) €T 0DHDID; € f(x) < =

B R=(1/3}—=<f(x) ST wHOIb ;< f(x) <o

@ R={=1/3L5<f(x) < 1/4

@ B—(1/3} - < f(x) < =1/2 OHDID 1/4 < f(x) < =,

15) In a group of total students 35 enrolled in art cliss and 57 enrolled in dance class. The
number of students who are either in art class or in dance class, if the situation is

A : When two classes meet at the same hour

B : When two classes meet 4t a different hour and 12 studerits are enrolled in both
activities. then the valuc of A + B is,

(A) 12
(B) 80
(€) 92
D) 172

15] @@ wraaised @gupelley, 35 QU sme @l lgin, 57 Gul BLar aiGuUlgib
S0k QETETLard.

A Boear® auglusenh et CHTEEa panLOuguth GLimg

B: @ e su@GLUSEsD GaucuGam CEIEEOD HaLOumh SuUng 12 reRraIisst
@res( angliignd sabas O srarLnfasr,

adin @ shfowserss ghu s sdng pLar asuld Csibs
wremreulfsafler aapaflbansullama sani@C 0, A - 8 Wl wHliiy ——-

A) 12
B] 80
c 92

D) 172



16) The sides of rectangle ABCD are {3 + Jﬁ]mn and (5 - -;,;_) cm in length then the area of a square
in cm® glven that diagonal of the rectangle ABCD Is one of its sides 5.

(A) (7 +4VZ)em*
B (50— 8vZ)cm?
@ (4+7VZ)am?
©) (8- 50vZ)cm?
16) ABCD ssip QediousiBar Liasiasialr foarsiad (34 VB) G 8 wipd

(5- u:‘f) D of @aflal, ABCD wreip Crdiaag B 9@ apmaall s gBewen udawins Sanadi
SB SIS BT gLy

(A} (7 +42)@s 27
(B) (50 —8yZ)@s 187
€  (4+TV2)P=.8%

(D) (8—50V2)os 8*



TRIGONOMETRY ((1p& G rrenurefil Lisl)

Which one of the following is not true for Pythagoras triplets?

a) Equivalent ratios of side measures are in triplets.

by 7, 24,25

c) Hypotenuse is equal to the sum of the other two sides,

d) Square of the hypotenuse is equal to the sum of the other two sides
(Bmraa@er gpbemum el (riplets) (5 eSau oy auemalt oie sy Saun e & n

al  UEE HeTeyEaTar F1omes afl EsaiEar (pbemsants (ripldy) [§) e,

b)) 7.24.25,

o uaks gyersyssiing & Gse siavsBiiE swnre @ sssi0

d) wuda ymayaeliar aissnisalel a@sed siang Bl adadBie sud

A person looks at the top of a building of height h at a distance 'a’ metre from the
point A at an angle 8. the possible that angle of inclination will change when he
moves a small distance towards building and sees the same building at a distance 'b’
metres from the point B is

c
a]%
b 3
o @
d}% nna D
et

g suf A yawildeflmgs ‘s Slod Cammaald 'h' cwsupeer sl sRar
o #8enw) B Cerawg e uniERprd sy gens Op188 oo Bfin zymb seddy wGas
sz Seoos B yawiia @imgx b Hlid Gsrewalal wridgd Gunsy
Vi paSsmend B oUus st amddy

C
a) £
by 2
c) &
=] 2]
d) b A B D




From the top of a building 40 m high he sees the bottom of another building 10 m
high at an angle of depression 45", If the distance betwsaen the two buildings is
10v3 then the value of the angle of elevation from the top of the 10 m high building
to the top of the 40 m building is

{a) 1.732 (b) 1.414 (c) 1/%3 (d) 3

45"/(
3Dm
_,f’figff##

1043
10m 40m

45°

1043

40 m 2 WTWETE e SlnLsBar e sAWIOBHES 10 m L wguneTeT
WHEOTE SIS Sigeml 45 * BnE&EGasmansEs uri&SmmT.
Bosor(@ SLULMSERSE el UuUlL Gsmaneey 10V3 greofléy 10 m
e wiepsTer sligL e 2 sRWBmHa 0 m slnL BT e &Flamw
UNi&s ay@ib g CarmersBe i

(a) 1,732 (b) 1.414 (€) /N3 (d)3
45°
I0m
a e
103
10m 40m
45°

1043



A

Match the following
A |fsinB =cos B thenthevalueoftan® =(1)0

B. (tan 45" + cot45") (tan 45" -cot45®) =(2)1
C. If A =90°then the value of 2 cosec®A =(3)4

D. 4 {[cos (80" - B)® + [sin (90" - 8)*} =(4)2
fa) A B c D
g 3 1 4
(b) A B C D
2 1 3 4
(JA B € D
2 1 4 3
(dy A B C D
2 3 4 1

L9) &t u (b v sOTeu HEN D QLIMIBS 15

(24) sin 8 = cos 8 erefleb tan 6 & WEWIY =(1)0
() (tan 45° + cot 457) (tan 45" - cot 457)  =(2) 1
(@) A = 90" etedflel 2 cosec’A er WOFIIL = (3) 4

(FF) 4 ([cos (90" - 8 + [sin (90° - 8)7) =42
@ = @
2 3 1 4
b < { &
2 1 3 4
s & & F
2 1 4 3
e &% B 7
2 3 4 1

In A ABC £B =90°, AB=9cm, AC + BC = B1 cm then the value of tan’A + tan’C
is

(a) 19.80 (b) 19.70 () 19.60 (d) 19.50

A ABC @60 £B = 90%, AB = 9 cm, AC + BC = 81 cm sr@flél tan’A + tan’C eir
oI LIy BITesTs.

{a) 19.80 (b) 19.70 (€} 19.60 (d) 19.50



B

sind +cos B =2, sind —cosB = 0then the value of A B are

(a) A =30°,8 = 45°
(b) A =45°,8 =30
(c) A=15",B = 45
(d) A =30°,B = 30°

sind + cos B =2, sind — cosB = 0 sT6afl6u A, B &r LEILL

(a) A =30"8=45
(b) A =458 =30
() A=15"8=45"
(d) A =308 =30°

If the length of the shadow of a Tower is 15 m, when the sun is at 30 degree

elevation then the length of the shadow of the tower when the sun s at 60 degree
elevation is

@ 3m (b)dm {c)S5m (d)ém

A

15m

@flusr 300 ghpGsnaussd QESGLEUTS @M CamyrsSer
Blpedldr Bemh 15 m aefley dGflwsr 60 * ghpesTaNEHia
QIMHLGLINS &ECHTUTEEET Blwelear Barih ererer?

a) 38 48 (c) 5 18 (d) 6 18

A




8

A vertically straight pele 30m high is broken by the wind in such a way that its top
just touches the ground and makes an angle 307 then the length of the broken part
of the pole is

(a) 5 ft (b) 10 ft ©15f  (d)20f

c

30 Sl 2UPMPEETET @@ SLuionang  Srpolermi  wepeuSih
wpfwmns  i5dr 2 FRWwnans  SenruLar 30" CuTauSans
UG SHEDe qafléd Wwilhs shusHear Bargeans Seus.

(a) 5200 102y (152119 (d) 2029

The value of (zm: : h::::] *E (ml')

(a) 7tan @ (b) 10tan8 (c)tané (d) 12tan @

T5in 74 | Beosec BG5S i " i "
(mw N z(;—') gt InG) 1L eTebrenT?

{a) 7tan @ (b) 10tanf (c)tan§ (d) 12tan &




